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QUESTION 1

Which of the following situations typically requires extended storage? 

A. Products with low demand 

B. Product consolidation 

C. Modular products 

D. Seasonal products 

Correct Answer: A 

 

QUESTION 2

What distinct function/s does a supply chain perform? 

I. market mediation 

II. indirect 

III. physical 

A. I 

B. II 

C. II and III 

D. I and III 

E. I, II, and III 

Correct Answer: D 

 

QUESTION 3

Which of the following actions is most likely to lead to successful implementation of sales and operations planning
(SandOP)? 

A. Automating data sharing between the sales and operations departments 

B. Adjusting the forecast to match the budget forecast 

C. Executing the process every month 

D. Focusing solely on the short term planning horizon 

Correct Answer: C 
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QUESTION 4

Which of the following statements about the use of bar code labels for product identification in the supply chain is true? 

A. They have been replaced by radio frequency identification tags. 

B. They can be read by devices 1 to 3 meters from the item. 

C. They facilitate the capture of information about the location of items. 

D. Each of the trading partners must apply a unique label. 

Correct Answer: C 

 

QUESTION 5

Which of the following outcomes typically is the primary benefit from implementing a reverse logistics system? 

A. Reducing returns processing costs 

B. Reducing legal costs 

C. Extending the product life cycle 

D. Complying with the SCOR framework 

Correct Answer: C 
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